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PAPER I

1 Select the correct Statement(s) in relation to individual differences.
Statement (I)Individuals differ in their aptitude.
Statement (IT)There exists a wide difference in motor abilities such as reacting time and speed of action among individuals.
Choose the correct.

SHeoflWmeT GeumiLIMB &6 QST TLITeT &FFIWITET SoMmi(SHenen)sd CHIHOSH & &6 LD.

Famml I- Heofl BLITSHET SBIGET BT LS5 60 CaumiiGSRmTIgser.

Famml 1I: Heofl BLITEHEHEHG6T QFWeLIBHILD GBI MMID QF LGS GUMETm 2 Ledwss Bmersefley LiFnhgs Geumiim@
o 6iTengl.

Fflumarenss CHIHOSMH &&Ha]D.

A: Both Statement (I) and Statement (IT) are correct.

Fam 1 LDMHMID S MMI I @ TevoT(HILD & IflWMeoTemal
B : Both Statement (I) and Statement (II) are incorrect.

FnHMI 1 LDHMID FonMMI 11 @ TevoT(HILD &6UMTETEm6
C: Statement (I) is correct but Statement (II) is incorrect.

Famm 1 FWLIMTETS SL6TME) Fa MM 11 &6)MITETSI.
D: Statement (I) is incorrect but Statement (II) is correct.

FaMM 1 HEUMTETS S,60TT6V S MM 1T FiflulmeTss!.

2 A teacher assessing how well a student handles geometrical instruments or operates a machine while doing a task is an example of
) AW, IDmesoTalf 2(IH Lietoflen W& Q&F WG edrm CLIMS, aulgauemolILIule & heilsemnerT eTelelmmi Gmaau_lrr@f,@)mrrcr
VLG R QUHHTHNS eTelaUTm @) UISGHMITT 6T60rLIeNS &HevoflLILIGI ME& 2_GMFewrin.

A Check list
Frlumily Ul iguey
B: Sociometry
Fens leraillley
C: Written tests
WS35 G e
D: Performance tests
Q&FWLHMEOT G& TS5 60)60T
3 One of the aims of secondary education commission is to develop skills among students.
@)L IBl6016V8 G56La 2,61 600T LIS F) 60T GIF & & MG 6rfl60 6p60TMI LOMetoTaU & 6rflem LGl FMEITE 6D 6T QUETTLILIGTGLD.
A: Social
Fens
B: Cognitive
SIS medr
C: Critical thinking
FMeoTITILI6) G & 6t 6T
D: Vocational
Qamiflev (Wemm

4 Insight learning was proposed by :

2 Lam & adlsmmey b0 IMWSLILRSSLILLLSI.
A': Bruner

L 00T [
B: Kolb

G meuLl

C: Wolfgang Kohler
Q60856 Ga:manlevy
D: Maslow

L0merv@euim



Four statements regarding the types of research are given below

(a) In social science Research, the term "Expost facto research' refers to descriptive research studies.

(b) Applied research aims at finding a solution for an immediate problem facing a society

(c) Empirical Research is data based research and its results can be verified by observation or experiment.

(d) The researcher has to use facts or information already available to make a critical evaluation of the material in fundamental research.
Select the correct statements.

UTTUFR QUM&HE6T QSITLITLITET BT6TES 2M&Hen&H&H6T B Q& M(H& LU (HeTereT.

(a) Fewpss 9Mlailwicy QrmlERN W6 "BlepelsHE Lbengu STTiIgEs" ererLIg alleTd:&HI0Me QL TTULIFS U160 566Ts
(GIESREN

(b) R FeP&LD THTQ&HTETEHLD 2 L ey LNFEFFamers:@ Sie) &mesrLeng Liweruml (h S,TmlFR CBMeHsEs0MSS

Q& TeooT(H 6ITETS.

(c) eIl SYTTUIEFR 6T6dT LIS S0 IQLU1LImLUN6VTeT &I MUIFF MHMILD S1H60T (DI HEN6T 2 MMICHITEHSH6) V6V
uflGEmgeamen eeuld FlUMI& S (WIQULD.

(d) S liuemL oLrmFRulev Qum@perfler e winmer WH LT L& QFWIW QTTUIFRWTeTT M &HeTGel 2_6Tem

2 _GUOTENLNGH 6T 36DV G H86UVHEMETL LIW6TLR &S Galeuor(hLD.

Fiflwimer n&am&&HmaTs CaHIHASH&S]D.

A: (a), (b)and (d) only
a, b, LDMMILD d DL (HILD
B: (b),(c)and (d) only
b, ¢, LDMOMILD d DL GID
C: (a), (c)and (d) only
a, ¢, LDMHMILD d L (HILD
D: (a), (b) and (c) only
a, b, LDMMILD ¢ L (HLD
Which among the following is the characteristics of Evaluation Research ?

LYetraupelestaummier G LILIH o rmiidF&uler S mUiNwevL e e1g1?

A: Specified variable in qualitative terms
SIS 6T g 1LemLuNev ML CiuC L omadl
B: Process of developmental programming
QUETIER BlTeVTE S SH 60T Q& W6V (LNEMM
C: Non-Comprehensive Concept of Measurement
SlaTefl_(H&&TeT (WENWWMM SHHS S
D: Cost-benefit Analysis
QF6V6)-LIWLIET LIGLILIMUIe]
Survey of Related studies aims at .
QBTLIL LW 316|566 &Heorse &G ILIL] GIBTE: & L0T6TS!

A: Knowing facts about the existing problem
SHCLTSI6TET LNIT&F& emeoremil LIMJILL 2_600TemL0&: 606 il 6ugl.
B: To test for logical coherence
BI5&FH WTET 55 e &6|&a& T CFMEHemeT LIMMIWLS!.
C: Vagueness of the statement
)G e g uller Qg erflaileTemin.
D: Lack of knowledge and clarity
sifley oD Qgerfley @eveumenio LHMWS!.

refers to providing a magazine at no cost to readers who meet some specific set of advertiser - attractive criteria.
eTedTLIg TIDUTSTI(HEHS FIH&HESF QW GMULNLL &S Ha6T LTSS QF WD aMFsSTHEHEE GeVealFLnns
20 USSP &MU aIPBIGMS GUI&H DS

A Controlled circulation
SLOUUBGSSLIULL aBCWTssID
B: Uncontrolled circulation
SLGUUTLmm eNBlGWMSsLD
C: Custom publishing
SeoflliLwesr USG5 60
D: Audit bureau of circulation
H6001 5605 2 avaleVs NBIGWITELD

Signs that represent a thing itself and always bear some resemblance to the object to which they refer to are :

62D GILIMIBENET {S60T 2_(H6U S{emLOLIL] LDMHMID &S H6TenLn eneuld GMISH G GMIuT®H era1?
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A : Iconic signs
GILILLE GMui® &6t
B: Indexical signs
GOWILE GMIuib &6
C: Messagage
QFWH
D: Symbol
&G
enables the learner to gain autonomy and at the same time, to make use of mutually enriching forms of interdependence.

&HHMEIT&HET SeTarTL Fenwll QLMIAIMNS @) W6F QF IS, 268 CHISHH 60 LIFeuLTd Qe G\ LImF Friy
Blen6ev & emerLl LIWeTLQSH & Q& TeTer elnH &G &MHmeV (LNemm 6TS?

A Blended learning
&H6VLIL] &HMMeL
B: Co-operative learning
G O/DE HHMED
C: Self-learning
Gl &HMHM6Y
D: Programmed learning
I LA LUL L &smHmey
By whom was mass-line communication employed and coined ?

QUOGBHB TET QSTLIL (nemmenwLl LiieTUG S WeUT MM SSMHESL QUL el wimy?

A: Mao Zedong
LDTGEF TSI
B: Karl - Marx
STV LDMTIE 6N
C: Joseph Stalin
Gam&Ll 6uLmedledr
D: Lenin
Qevesfledr

Which among the following is not a 'cultural issues' under the mass communication ?
LN etTeu BeueTeumnil el 6181 Q16U G R60T HHEUV QS TLTL 66 G 'HeumdaFmy LTs& eneora 6T 2i606v.

A: Globalization of content and flow.
2 @TeTL &L LDMMID L L HH 60T 2 608 L0UWILDTESH 6V
B: Promoting the quality of cultural life.
SHOMTEEFTT MPEH&UN6T 5SS CLOLIOS SIS
C: Effects on cultural and social identity.
SHEUITEFTT DMHMILD FeLNG 36D LWITETSH6V LGS T6oT 6l 666 &5 6iT
D: serving or resisting sources of power.
ARETT QS TIHESHEHHS 'CFen6 QFUISHN' VevSl THTLILISI

A Milkman pays Rs. 6.40 per litre of milk. He adds water and sells the mixture at Rs. 8 per liter, there by making 37.5% profit. The proportion of water to milk
received by the customers is :

62 (1B LIMeL eN D LIEH6OTWITET, 365 6 9L LI LITeW& S €1H.6.40 QFISSIRMITY. 26U HeooTeroien s CFI5S!, 56060660

O L(H&G .8/~ MR MITY. SIH60T eLNGVLD 37.5% VLD FLQYBMITY. 6UITIY.8 608 W TET I 6T QLIMILD & 600T6001 (585G LD

UMau& @D 2_6T6eT eSS eT6l66Ta)]|?

A: 1:8
1:8

B: 1:10
1:10

C: 1:12
1:12

D: 1:16

A sum of Rs 1550 is lent out into two parts one of 8% and another at 6%. If the total annual income is Rs 106, than the money lent at each rate is :
€15.1550 6T60TM QG Men&H @ (H LUGH W s LNP&SLULLG), 0 QFTend 8% aUL 196G Q@6 QEHTeNS 6% UL 198 EGLD
QETHHHELILGRMS. 21,60T(H &S €h.106 aUIBLOTETLD UBRM S 6Tefl6L RalQ UM AP SHH NI Q&THI&HSELILIL L LIrLD.



A': Money lent at 8% = Rs 650 ; Money lent at 6% = Rs 900
8% UL 195 L Q& Tema = €I5.650;
6% U195 el L QG Temnd = e15.900

B: Money lent at 8% = Rs 600 ; Money lent at 6% = Rs 950
8% UL 196 L Q&Tens = e1p.600;
6% U195 AL L Q&Tend = €15.950

C: Money lent at 8% = Rs 500 ; Money lent at 6% = Rs 1050
8% UL 196 L Q& Mens = e1B.500;
6% eIl 195 el L Q5 Mend = eh.1050

D: Money lent at 8% = Rs 550 ; Money lent at 6% = Rs 1000

8% QUL 195 L Q& Tenss = e1h.550;
6% U196 el Q15 Mema = h.1000

Which is the number that comes next in the sequence
2,6,12,20,?

2,6,12, 20, ? 66T QSTLl60 B\ SS! GUIBLD 6T6UOT 6THI?

A: 24
24
B: 28
28
C: 30
30
D: 32
32

Three person are walking from a place A to another place B. Their speeds are in the ratio 5 : 3 : 4. Then the time ratio to reach B by these persons will be :
A eTedT @ LSS BHS B 6T60TM @)L SHM& el BLbHS QFLR6Tm6or. 3j6UTo6rfleir CoudsmigseT 5:3:4 eTedrm &S5 F 60
2 66l 6Tevfl60 3jDeLnEIHLD B 6T60TM @)L G0 ML L 6T(HS S8 QGMeTEbhlh CHISH 6T G G0

A: 20:15:12
20:15:12
B: 15:12:20
15:12:20
C: 12:20:15
12:20:15
D: 12:24:36
12:24:36

If x : y=3 : 5 then the value of (3x+4y) : (5x+3y) is :
x:y=3:5erenfl6L (3x+4y) : (5x+3y) -@ 60T LDGILIL]

A: 26:31
26:31
B: 50:49
50:49
C: 29:30
29:30
D: 25:37
25:37

The sum of the income of A and B is more than that of C and D taken together. The sum of the incomes of A and C is the same as that of B and D taken together.
Moreover A earns half as much as the sum of the incomes of B and D.
Which of the following statement is not correct.

A LMHMILD B 9L,SCWIT6T aUBLOTerSSH 6T Qg menss, C Lnmmilh D CFJh& eUMBIGLD eI(BLMTETS S il SH&HI0MEGLD. A
LMOHMID C 2HCWTH6T QUBLOTETSH 60T QGTend B LoMMILD D GFIHS! 6UMHIGLD 6UBHLOMETSESH MES &b LGLWD. B ommih D
GFIHSI QUMMEIGLD QIBLOTETSFH) LITHen A FIDLTHSESH MT].

NetTau(pLd nmmiserlev eTgl FilmeTg 31606V ?

A A earns more than B

AeteTUeT B-g3 il 9B &0 FIOUTHEH My
B: B earns more than D

B etedrLieU D-83 il S1H\ &0 FIUTH &R MM
C: C earns more than D

C eTedTLIUT D-83 el SiH&1D FUTH &R MY



D: B earns more than C
B eTedrLIeU C-23 el B\ &0 FIDLUTH SR MTF

Statements :

All books are cakes.

All cakes are apples.
Conclusions :

1. Some cakes are books
1I. No cake is books

II1. Some apple are books
IV. All apples are books
Choose the correct option :

T MMIGET: NOTSHSI LSS BIHEBLD G (&HH6T.
DTS CH& G EHLD L1 6o 6T
(WDIG.6S6ET: I: Flov G858 &6 LSS 8IS 6T

II: 6T S @ CHHGSLD L|SHSHHLD §)6Vemov.

III: Fl6v L LILNGTGHEIT LS55 MIGH6T E)6V6m6V.

(IV) : 3|6060TSH B 24, L ILN6THEBLD LG5 &M 6T
Frflwmer alBLLSmS CHTHOSH E&HLD.

A: OnlyI follows
Il GG WeTummith
B: Either I or II follows
I &jeveugl 1T LNesTLIMHMILD
C: Only I and III follows
I MHMID I L GG 6T Ui
D : Either Il or IV follows
1T 2j6LeuaI TV LeTLImHMILD

Given below are two arguments.

(I): A valid deductive argument that also has all true premises is called a sound argument

(IT): A strong inductive argument that has all true premises is called a cogent argument

In the light of the above statements, choose the most appropriate answer from the options given below

ECL @ TeroT(h QUMHMIGET Q& TH &8 LILIL (HeTemer.

I: S|6M6E0TS S 2_6UoTen L WLITE0T (NG MG& METSH LD Q& mesor(B6fTerT (B & flwiment LNflESnuLd aUMSLnmeTsl b CHIHS eUMgGLD
GLD..

1I: S{60)60TS S 2_600T60) LOWIITEDT (LG MH B8 M6THEMETU LD Q& Teuor(H6ITeIT 62(H 6LV TET QBTG SHSMIULD QUTSLOTETS! 62(H
2_MIGHWITEOT QUMD eTeoTLILI(HILD

GLM&6EUITL Fammiserfler L, EC Qa&M(h&aeLILL (HeTer allgpLiLmbIGefledBHEl W&eealbh QUTBSSLITaTens CHIHASMH.

A: BothI & II are correct
I LMHMID 1T &S W @ Tevor(GID FiflwimeTeney.
B: Tis correct but II is not correct
I & lWImeTs o,60T M6 11 &l WITeTSl 2j606V
C: BothI & II are not correct
[ LnMHoIDd I @& W @uesor(hd FilWmeTS 3j606.
D: Tisnot correct but II is correct
I & lWmeral jevev eormev 11 &iflwimeora

Choose the correct Venn diagram for the following :

Dog, Animal, Pet.

Letraumedestaummm @& &iflwimesr Qlausdr euenILiLILSmnSS CHTHCSH[H &S] LD.
BT, efl6urhi&, Q&eveull LIl meoot]

A:

" nimO




[AEZE) el

22 Which figure among the following is odd one out ?
LNetraumedesralmnilev 6TH& LIL LD QMBS S TS 60)6U?

A:

(A)

(A)
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v
A

(€)

(€

(D)

The daily profits (in thousand rupees) of 100 shops are distributed as follows :

Daily Profits Number of shops

0-50
50-100
100-150
150 - 200
200 - 250
250 - 300

12
18
27
20
17
6

How many shops get daily profit below 100 (in thousand rupees) 2

100 &emLserilsiT Slestaifl 6umuLD (Luslyib eRUIMUY6L) WlebTaU (LM
Slestaifl eumud

0-50
50-100
100-150
150-200
200-250
250-300

B60LG6TT160T 6T600T600TI 6008
12

18

27

20

17

6

TEHSHENETT HenL&6T SHleuraifl eomLiLd 100-8(8 (<y,ullyid epumuilev) LD 2 6iTTE).

A: 12
12
B: 18
18
C: 30
30
D: 27
27

Which of the following is a two dimensional diagram ?
FECL Q&EMTEHLILm6eUSET6L @) (B LITILOIT60T & 6T 68 Te0T L 6M6) 6T6M 6l 6T6uT Mg,

A Simple bar diagram
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27

28

ererflu LIL6mL auemyLIL LD
B: Rectangular diagram
QF6UAIS QIEMTLILLD
C: Multiple bar diagram
LeuasL L LI LIL6emL euemTLILLD
D: Percentage bar diagram
alW&EsTH UL auemTLLLD
In classification, the data are arranged according to :
QUMSLILIML 960 FT6Y&H6T @bHg euflen&F LG emns&LILL G 6TeTSI.

A': Percentage
Foal&HgID

B: Difference
Geaumiim(h

C: Common characteristics

QLIS 6UITET LIGDOTL|&56T

D: Ratio
aN&A L0
Statistics may be defined as the of numerical data.

(a) Collection

(b) Presentation

(c) Analysis

(d) Interpretation

Choose the correct answer from the option given below:

LeimerfludluIey 6T6dTLIG 6M60T 6TEOOTFMIT ST 6ledT 67607 eUeDTILMIGSHEVITLD.
(2) CF&If1GH 6

(b) 316l & & 6v(Presentation)

(¢) LGLILUMUIG] QFUIFH6

(d) eNlen& & LD 3y6rflEH S5 60

FEC OsEMO&sLILL G 6T GsFesefladmha Fflwmer allanLal C5FHOSH &S LD

A (a)and (b) only

(a) LDOHMILD (b) LD
B: (b)and (d) only

(b) LDHDILD (d) LLGID
C: (c)only

(c) LL (LD

D: (a)and (b) and (c) and (d)
(2) HDILD (b) LOOILD (¢) LOOAILD (d)

Production in tonnes from 2000 to 2007 given below is an example of one of the
classification method. Identify it.

Year: 2000 2001 2002 2003 2004 2005 2006 2007
Production: 45 40 44 41 47 42 55 50
{in tonnes)

2000 W&6v 2007 suenyuiievmest 2_MHLGH) Letaemsd @m suensliu{h &81560 (Wenmuile b &S HSTLLTS

£C Q&M{H&H&IUL([HETETE). SHEMLITETLD HIT6Eurs.

6U(THLLD 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
2 Huss
(Letrassiflsv)

45 40 44 41 49 42 o5 50

A': Geographical classification

QLD &MY alensLILIHSSIH60
B: Chronological classification

SHMTeVLD &MY aUem&LILIMG S5 H6V
C: Manifold classification

Leval auem&LILIM S SI%H60
D: Logical classification

HI5HE & LILM S5 H60

E-Governance ranking is based on :
(i) Telecommunication and Infrastructure Index



(i) Human Capital Index.
(iii) Online Service Index

L 60T o1, EBen s Fralflend @) 56T QLI L uleumers.
() QBMemVS QST WMHMID 2 sl Lol Gmlufik
(i) evf1s enevgerrd: Gmluih

(iii) @ emevor el GFemeun GMIuT@H.

GLpsevor_aummley Fiflwimests ers1?

A: Only (i)
(i) LD
B: only (ii) and (iii)
(i) LOMMILD (iii) DL BHILD
C: Only (i) and (iii)
(i) LnMMILD (iii) DL GO
D: (i), (ii) and (iii)
(i) (i) LHIILD (i)
The channel was dedicated to technical education and an initiative to virtually bring the audience to IIT classrooms.

Sjemevalflend Qs midlev HiL LI &60all68&Me 9 FLIL6u &aUILL L gl GLosld @I LIMTen el TeTI&enarT IIT
AGLIL&EHHG QUUIBI&T Wenmule Q& mer(hlau@dLD WWMHE o@D,

A: ETV
ETV
B: Gyandarshan

Gyandarshan
C: Eklavya
Eklavya
D: HETV
HETV

Identify the correct choice from the following :
Assertion (A) : IaaS is one of a cloud service model.
Reason (R) : In aaS, the users are given access to hardware.

etraumedesraumnilev &iflwimereumenm &evorHLillg,
Ty : [aaS eTeOTLIGI GLD& S &600f1emL0UIedT 62(H CFemal
SITI6OOTLD : [aaS &3 LIW6TLMISSILIAUT & 60T aUeTQUTHEm6T LIWeTUGIHS AeInG Q&TH &L G ILD.

A: Both (A) and (R) are true and R is the correct explanation of (A)
Fa Mo LDHMILD STFevord FlWmeral, GLaLDd d»mnleT &Fiflwimer eflemd: LD &ITFerTld S, ELD.
B: Both (A) and (R) are true but (R) is not the correct explanation of (A)
Fa MM LDMHMILD &TT6euoTD FflWMTeTSl, 8,60 M6V &6 OMeTS Q&TH &&LILLL gammler Fflwmer alleréssld G 6vene,
C: (A)is true but (R) is false
T FfIWITETS 26076V S ITT600TLD & 61 MITETS)
D: (A)is false but (R) is true
T HEUMITEITH L60TT6V & MTI6torLd FflulmeoTg)

Extranet is specifically intended for people the organization.
4w Nemevorwild & mLILITE, [5]m161 60785 & 60T 2 666U TS EH& ST 6ULY6U6MLNESLILIL (D 6T6TS!.

A working in
2 6TG6T Gauemey LIMIESI& 6 &mevor(h
B: inside
o 6T@ar
C: extrain
F(h&HeVMH
D: outside
QeuerflGw

Identify the 4 - pillars of E-Governance
LA 60T o, EB e DU 6GIT HITEOT(S SIT6T0TSH 6T 6TEmEU?

A: People, Government, Business, Resources
ID&GET, 978, QG TIS6, UeT QLMD
B: People, Process, Technology, Resources

I8 56T, QF WM& SLD, QS MSl6LEIL LI, 66T QL& TTLD
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C: People, Government, Technology, Resources
IN&561T, 3|T&, QS MLHEVEIL LILD, 6U6T QL&D
D: People, Technology, Money, Schemes
D&&6ET, Qe TSleVEIL LD, L6oTld, S L LD
What type of principal radiation emitted for 29y isotope in nuclear reactor ?

9lel 2 amevWilel LWeTUMSSLILIGILD LieshLl GLMeoflwibh 8T GLITLI 6T[H& 616M & WLITET (N&ETenLnG &HH Teidens
QeuefMILQS SR MS?

A: aonly

a L GID
B: pBonly

B L (BILD
C: oandf

o LDMHoILD B

D: o and X-rays
a LnMHMILD X S&&HFE6T

Choose the correct statement (s) given below pertaining to International Solar Alliance (ISA).

Statement I : The ISA aims to unlock US 1 trillion in solar investments by 2030 through its 'Towards 1000 strategy.
Statement II : The ISA aims to active the sustainable Development Goals (SDG) especially in SDG 7 and SDG 13.
Statement IIT : The ISA was launched in 2015 by India and Germany at the COP 21 summit in Pairs.

FIaICsHEF GIfl F&H gnl Lenll QETLILTES GG Q&MHI&E&LILL (BT FFlWTET gammiseneTs CHIHGHH &oaLD.

Fahml 1: FFeUCHEF Gl 565 Fal L 6o, 315607 '1000 CHTHERW' 2 G5 eLn6vLh 2030-941D 21,6507 MG 6T Gl F&H5)

WSO 66 1 19.f1l6V6N LIGHT LITVF&E606TS BM&HS E)6V8 & 601615 SI6TETS!.

M 2: FIaUCHE Gl 565 snl el B19655 eUaTIFT &6 Mer @608 &&HemeT GUILILITG § 606G 7 LDMHMID @)6V&HE 13—6060T
DL AUMG CBMTEHSHLOMSE Q& Tevor(H 6ITeTSl.

FnMml 3: 2015-3410 L600T(H LIMflendl6L e QUMM COP21 2 F& MBTL 160 @BHHWIT MM QgFefllme FFaGss &iflu
F&HD ol L6l QSTLMBISLILLLSI.

A Statements I and III are correct
Famml 1 MM Famml 3-1b &Fifl
B: Statements I and II are correct
Famml 1 LMHMID Fammi 2-1b Fifl
C: Statement II and III are correct
FnMm 2 DHMID Fado 3-10 &if
D: Statement III only correct
Faml 3 LG Fif
What is the range of rainfall deficiency region to designate as moderate drought according to Indian Meteorological Department ?

@BESH W eumetleney e g siemmuieT Ly, Wgmer euml & ererml GMILLNheusmHE& @ LILGH Uy @ U euLImeT Lol
LMHmTE@&enmuiledr euiyLdL] eTedreor?

A: 26-50%
26-50%
B: 20-50%
20-50%
C: 51-70%
51-70%
D: 10-25%
10-25%

What is the detectable sound frequency range for a human listner ?
L0601 & 7856 & 600T LM Wi &G L9 UL 6260] SIS 7 CI6U6D0T GUITLDL 6T60TE0T?

A: 10-1000 Hz
10-1000 Hz

B: 5-5000 Hz
5-5000 Hz

C: 20-20000 Hz
20 -20000 Hz

D: None of the above
6T8I6]|LD 26L6V
Which of the following is a source of discharge in methane gas emission to the atmosphere ?

GELDGHGHTEVID 6TEUEIM S IS TTLOM6TS eUer]neuTLeugFH 6V 5 ES 6T el QeueflGWMMEH M &S &TFesornmHMmSI?



38

39

40

41

A: Cement plants
F Q6T QMM FTenevss 6T
B: Burning of fossil fuels
LensLigel eTf QU@L g ener 6Tif16 560
C: Rice cultivation
QB6L FMGLILY
D : Use of fertilizers
2 Frhigerfledr LiwerLm()
Given below are the statements related to objectives of Higher Education. Choose the correct option.
Statement I : To provide society with incompetent men and women, trained in agriculture, arts, medicine, science with a sense of social purpose.

Statement II : To strive to promote inequality and cultural differences through diffusion of education.
Options :
2 Wis6allulleT GBITEHEMBIGET QG ITLITLITET aUM&HSR WnhI&6T 6D Q&THSHELILL G 6Tarer. &Fiflwimer el @LiLSCSH Tel e eor
CaIHESHSHHLD.
QAUMGGRWILD I: Feps CHMTEHHSSIL 6T elleugmuLd, &emev, @B SIeun,  mlallwe & weammle LulHR Qubm Hmenwowimm
21,600T&60)6IT | LD QILIGTITEHEMET LD FeNGH ST M@ 6ULDMHIS 560
QMGG WD II: Hevallulled epeuld FLngiauLA6TemD IDMHMMILD HEVTESFTT CeumiLmbH &emnerT a1 &ailléa LIMH LG &6
ANBLILSCSHT6SH6T:
A: Both Statement I and Statement II are correct
QMGG WD I IDMHMILD eUM&SGIWLD I G Fevor(hLd &l mesTen el
B : Both Statement I and Statement II are incorrect
QMGG WD I LDHMILD eSS 11 E) Fevor(HLD &6 M TeoTen6)
C: Statement I is correct but Statement II is incorrect
QIMEHGWLD [ FIfIWITEITSI SL60TT6L aUMEERWILD 1T HeUM TSI
D: Statement I is incorrect but Statement II is correct
QMGG [ HEUMITEOTS! 60TMT6V aUMEEWILD 1T &Fflwimersl
In Higher Education, National Knowledge Commission recommendations have focussed on three key aspects of Expansion. Excellence and
G5 W SimMley Wasemwmey Ul bHgenrsasliul L 2wy sevelluller enera (n&sH W D miGeTmeler ellifleumssid QFuIgHe6,
ALy CFIsH6v DMHMILD
A Vocationalisation
Qs MSleL LWILDMTE &6
B: Employability
GauemevaumUILIL] QLIMIG 6V
C: Inclusion
2 GTeML&&HLD
D : Innovation
LS LSS SISH6V

Three major themes emphasised by Indian value educators in the 50 years of post-Independence era.
a. Nostalgic view that continually emphasises the rich Indian civilisation and culture.

b. emphasis on Gandhism

c. emphasis on Globalisation

d. promotion of Indian National unity and secularism

Choose the correct answer from the options given below.

&FSHHTSH OGS LNHens W 50 oye0or(H\&erflev @ BHHIW LHI1L|E &6Vl WIMETI&6TTeV UedWmISSLUILIL L et (&S &HLI
QUMTHETSHET.

(a) LI6DOTE&MT @HH W HMT&FlSEMD HMID HTFFTTISHMS QSTLIHS 6UedWMISSILD Hlen6aTalemney LIMFene.

(b) STHEHWSHHS WSS WSSIaLD

(c) 2_6VHLDWIDTH NG G (N&HH WS SI6ILD

d) @BH W CHRAW sprhmienin LDMHMID In&F FMFLIeTemnenl LG S SISH60.

Fiflwumer eflemLenwl Q5fla] Q&FIss.

A: a,b,andconly

a, b, DMMILD ¢ DL (HLD
B: a,canddonly

a, ¢, DMMILD d L (HLD
C: a,banddonly

a, b, DMMILD d LD (HILD
D: b,candd only

b, ¢, DMMILD d DL BILD

Creation of and biosphere reserves started in 1986 in India.



WHMID 2 uNFECHTeTs: &TLILIS M6 60T 2_(heumsaid 1986860 @HHWImaileh Q&ML mBISLILIL LS.

A: Zoos
2 uNFlwey L, MbI&sme &6
B: National parks
GHAWILI LLMBISTE 56T
C: Forests
SHTH\&6T
D: Reservoirs
BI& 6555 MIG&6T
42 "To state one's aim of education is to state his educational values". Was proposed by

"ea(HeU 60T SeveNUN 6T CBITE S S0 58 TnMIGUS 6T60T LIS {6U[HEM LI Sevedl m@uua&mmaa FnMIGUGTGLD 6T60TMI
weraumdbseauy .

A . Ralph Barsodi
Tmeull LITFGFmIq
B: J.S. Brubacher
I.S. LUemugsy
C: Bertral russel
QUIL[J6V [F6NV6ruev
D: Perry
Quyr
43 The full form of CABE is
CABE -@) 60T (0(L 6ULG6ULD

A Central Advisory Board of Excellence
Central Advisory Board of Excellence

B: Central Accrediation Board of Excellence
Central Accrediation Board of Excellence

C: Central Advisory Board of Education
Central Advisory Board of Education

D: Central Accrediation Board of Education

Central Accrediation Board of Education

44 was appointed as a chairman of the Secondary Education on 1952.
@ enLBlenevd Sevallufler Hemevaumas 1958 —60 BIWILA S & LILILLITH.

A: AN.Basu
A.N. UM8r
B: D.S. Kothari
D.S. Gas s i
C: A.Lakshmanswami Hudaliar

A. evL_grLnevorgmill (Wn&eSlwimy
D: A.Radhakrishnan

A. IS TS (561 600T60T

45 The commission which determines and coordinates the standards of teaching, examination and research in Universities is
LI&6&snamIS6 &HLS5 560, Ca e LHMID SLTMUEFS LG welmmleT & higseneT r_F‘ﬂl;rcovruﬁ]as@LD MHmIDh
62 (1 1 59 61) 600T 85 (& LD 2,600 600T LLILD G0,
A: NCERT
NCERT
B: NCTE
NCTE
C: UGC
UGC
D: AICTE
AICTE

Case Study from Question No. 46 to Question No. 50

Comprehension :
Fried Fish
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Mr. and Mrs. Joban lived on the coast with their two children, Abel and Irene. They were fisher folk. Mr. Joban would take out his boat along with his two
friends, who also brought their own boats. They would be out at sea most of the night. By morning, Mr. Joban and friends would come back with their catch.
Mr. Joban managed to get enough fish for sale daily and thanked God for it. He also brought home enough fish for the family to eat. He always told his children
that the fish was the gift of God.

Abel loved the fish his mom prepared for lunch and dinner, especially fried fish. So, one day, he asked his papa why God did not fill the ocean with fried fish
instead of just fish. That would, he said, make mom's work easier. His parents laughed, but Abel prayed daily for the ocean to be full of fried fish so that, his
mom's work would become easy and he could have as much fish as he wanted.

A few days later, Mr. Joban and other fisher folk went out to sea and fished the whole night. When Mr. Joban emptied his boat in the morning, he found to his
shock that his catch was all fried fish. He was excited and his stock was sold out before he could imagine. But after a few days, he found no takers for his fried
fish. People said that they wanted fresh fish to cook according to their liking. Joban earned nothing in the days that followed. He was becoming desperate.
Learning about Joban's problem, an old fisherman visited him and said, "God gives us everything. He gives us grass, plants and trees of all types for our use. He
gives fish in the water that we may catch. He gives us water to be used in any way. At the sometime, he has given us the intelligence to use the gifts in any good
and useful way. But God hardly gives finished products". It was a great lesson for Abel.

yrlgev:

Fried Fish

H( WOHMID HHLOG CLITLIET &higG6T @ Teror(h GBS HETTET 3LCLIG LnMMILD BifelL 6T HLMH&EMT ABH 6 aF &
QUBSETT. SeUTGHET L60To D& GET. H ([ CRTLIET H6oTSl &) 7600T(H [H600T LTS EBHL 60T H6oT&l LIL 6L QeueflGul QaFevaui,
S|QUTSHEBLD FBEIGET QFTHS LIL (G 56M6Ms Q& Teor(h elBealTI&H6T. @ralleh QLBLOLITaILD Sief&H6T &LeCuGW
@GBLILUTTSET. &Teneuuile, H(H G [H600TLITSHEHLD SMTHhI&6T L1955 L0608 EHL60T S (BN euheUTI&H6T. H([H GITLITeT
FeoT(OLD H6e0TE! GBI UL LGS CLIMSILDTET LI6TEH 6T QLM (PIHSHS!, SMEHTEH &L 6 EH&H G BT CF e s H erT.
GO WU FrmlilL GUMGIDmeT LSS emeTuh euf e 19M & Q& mevor(® eubST. LT &L eyerfledr Liflar eTedray o6ury
GTLIGLIMGILD H60T8l GLoHen S 6L LD FnmleorTi.

21,BLIGL HE0TS! SJIDIOIT DG W 2_6voTe) LDMHMID @ T6] 2 eoorallM@& SWMiflgs 16T, GMILILING eSS 5T CHRSSTT. eTerrCa,
QR(BBITET, D6U6IT G60T LML LD, &L_6)6T g6iT HLem6v Qlaumild L6T&HETT6V BITLILIaISMEGL LIS 6VTH aIMiS s 5T 6Ty
BrliLefNeueney eTedTml CaL L M6, 215 S bLomailer Galemneven L 6T6lflHMEhGLD 6TTMI 616D Fn (60T TEIT. 2| 6UEDI ML LLI
QUMBMTT AfGHTIHET, 2U60TT6L 2,ECLIEL HlTLD &L 6960 euMIG S LE60TE 6T BlemmHE) (H&H 8 CeuenoT(H)Lh 6T6dTmI G6UewoTIq 8
Q& 60T L_IT60T, DS E0TITeV aUslem L hinmeler Geuemev etaflgsmHeNBID, 66T el BLLLD 6Te|dHE LT HemL_& @G0
GTEOTLIS 261 63T 6T600T600TLD.

Flev BTL&HEBHGL LNM&, B[ CRMUSILD MM L6TEUTSHEBLD &L IGHGEF QF6Tm @T6) ((Weugild TN Gs56rT. H @k

G MLITET &HTemevuiley Feor&l LILend &6l QFWLSEUNS!, 36l L1955 L6TH6T emeTS SN eumIS S LS60TS 6T 6T60TLIEN S &
&H600T(H) B TFAWENLBSTT. 36U 2 HFTHLOTETTH. 6UJ &ML QFUISMHE (NTCL Sjaurg WeTas6r ellmmis

BT HS60T. 2,601 M6V Flev BITLHEH&HG L1 LIMG, TS aUMISS L56OTEHMET QUMMEISG WITIHLD HenL&aei60606V. 06 E6T &hIGH6T
af@LuliLg LEHW LSeTEHem6T Feanlnd s all(BLDLeUSMTHS Famler]. UM S5H5DHSS BT &6rfle) GQITLIMTET 660TmILN

FOUTH &Sm0, GRMLITET L& 6D &6l 6L BT

Garumesfle LIgFFemeTenl MHS (6 UG LSaTalT elenTE FhHHSS!, "GLA|ET [HL08E 6T6V6VITEUMEM MU|LD
SMHAMTT. HLOLNED L LIW6TUTL I M&TSH SiaUT BN L6V, QFLY, Q&TILG6T, IDJBISET & Walhanms Q&THSH M.
B L9 &8 S evorenol 60 LSTEHm6Ts: Q&THESHMTT. 6TLILIQUIMaIG LIW6TLM SH S QS TeTers & 6061 W T6OT & 600T600160) [
BL&EGEH Q&ETOHGER M. Fev CHIMI&6T6, @bs Liflaaemer LilseTer mevev aufluiley LiuiedrLI(h & Sieus Mo meot
LSHFMeN 5565 S el BLosEGE QHTHISSIETETTT. SLE0TT6V &L 66T LTSS WM QUITIHL&H606MEH QaTEHLLS Sflg”
GTEOTMH. @S SLCLINIGG @@ QUIfIW LIMLLOMS S{MHSHSI.

What was the occupation of Mr. Joban and his friends ?
H(B CLMLIMTET MHMID Sj6UTS! H6vorLiFaserfler Qg musle eTedTeor?

A Fruit sellers
up elwruriflgser
B: Flower sellers
u, eflhLeujs et
C: Fishing
1SeorLINg.
D: Bangle Sellers
alememwley el MLIeTE 6T
What did Abel pray daily ?
21,8LI6L BleornLh eredrent LT TS &Hemett Q& ISTT?

A': Abel prayed for the ocean to be full of fried potatoes.
AMIGS 2 ([(HEMETEHGR PG &L 6960 BlenmbH (He CalstoT(hLD 6TedTmi oy, CLIG LITTIS S e QFWISTT.
B: Abel prayed for the ocean to be full of fried fish.
QMGG LSETHETTEV &L 6V BlenmbEH (Hohe Geuetor(hLd 6T6dTm o,CLI LNTTISHSemeT QEFUISTH.
C: Abel prayed for the ocean to be full of Seashells.
HL (NWaugID Reflehaesar BlenmbSH B Caustor(hLD eTetrmi 9LCLIG LNTTISHSE 6T Q&WST.
D: Abel prayed for the ocean to be full of fishing boats.
56T LIL G &ETITEL &6V BlemmbH) (H&S Cauetor(hilh eTedTml u,GLIeV LT TS SHem6T Q&FWIGSTH.
What shocked Mr. Joban ?
B CQMTLIE T AP TER & G6TeTTHERWS! 67517

A His catch was all fresh fish.
ey N9 55 6TEH6T 2emars S LH W LE6TSH6T.

B : His catch was all seashells.
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euj N9 55 L56TH6T eSS &L HAILNG&aT.
C: His catch was empty.

gleuf Y &G LO6T HTedWNs: @) BHEHS!.
D : His catch was all fried fish.

auf L9 55 L86THET I eMeTSSID MG S LE6OTE6T.
Why did Joban become desperate ?
GTLIMET 6760T BHLOLN G &BUNLPHSTT?

A': Nobody to buy his fish
S16UTS! L5EOTEH6M6T QUITMEIS WITIHLD &) 6L6m6V
B: Nobody to buy fried fish
QMGG LSET QUITMHIS WITIHLD E)6V6m6V
C: Nobody to pray
NomTigsemen Q&UIW WIT@HLD &) 6vemev
D: Nobody to be his friend
WIMT@HLD 261 EDI6ML_LLI [H600TLIGOT TS @)6V6M6V.
Why did Abel pray for fried fish ?
2, GBLIGL 60T QUMIGS L5eI&HTSH QLD QEFUWISTH?

A: He wanted to please his mom

2|6U6T »jIbnmeneal & peil& e 6L LI eormedT
B: He wanted to please his papa

2|66 G60T LILMemal n&Lpellg s el @BLbLIleoT et
C: He wanted to make his mom's work easy

S|DLnmelledr GeuenevemLl S6VLILNME: & 6l (HLD LI 6o medr
D: He wanted to help his papa

SJLILIME| GG 2 561 Galeuor(hLD 6TedTmI [ 616015 S MedT



